e

KIT INCLUDES:

1—1/4" THICK ELECTROLYTIC TOUGH PITCH 110 COPPER ALLOY BAR.
1-3" BAR SPLICE PLATE WITH 2 SLOTTED HOLES.

2—WHITE DELRIN INSULATORS

2—12-24 x 5/8" HEX WASHER HEAD SCREW.

2—#12-24 x 3/4" COPPER FLASHED BRASS SCREW.

2—#12 COPPER FLAT WASHER

8—#6—-32 x 1/4" COPPER FLASHED BRASS SCREW.

8—#6 RING TERMINAL

1—#6 LONG BARREL COMPRESSION LUG, 3" o.c FOR #” HARDWARE

2—1/4=20 x 3  STAINLESS STEEL CAP CAP SCREW
2—1/4" STAINLESS STEEL LOCK WASHER
2—1/4"—20 STAINLESS STEEEL NUT

okx NOTICE *x o= o [NTLE
THIS DOCUMENT CONTAINS CONFIDENTIAL AND/OR %3 ORTRON'cs HORIZONTAL GROUND BAR KIT
PROPRIETARY INFORMATION INTENDED FOR USE NEW LONDON. CT 06320
ONLY BY THE INDIVIDUAL(S) SPECIFIED HEREIN (860) 445-3800 19.95" x 1"
AND ONLY FOR THE PURPOSE(S) PROVIDED. SN ST .
CONTAINED. HEREW, MAY BE COPIED, DISTRIBUTED IM ey |7 01/20/08 REV
A < ! CHK.BY:
DISCLOSED TO ANY THIRD PARTY OR USED IN Lvesque | o1/30/08 A GBH19KITC OR—-GBH19KIT 01
BEEN PROVIDED, WITHOUT THE PRIOR WRITTEN APP.BY: SCALE REL SHEET
CONSENT OF ORTRONICS, INC. MEM 01/30/08 NONE |om 06/23/10 | 1 OF 1




